86.'1eIN

- - 0¢ Zl
- ZT - T|
— 5,0 - zq ANV 1d ONILV3S q
10 - - s
19¢ /G2 VT 7
TI€TT | 8TIT | SOTIT | =H >
€56 v'6 126 9] > /
- 80 - B k=
62°0T | 9T0T | €00T 3
80'TZ | S602 | 2802 a 1q
G20 Z0 810 8
850 L0 €v'0 1q
60 Z€0 120 q @ @
- - 80 v OOO0O0O00O0N0O00000000000000000
GS'e Gv'e ge'e v
Xe WoN UuIn O
|oqwAs
SJa1aWl||IN Ul uoisuawiq
o () C
ped 1UNo\ papuslIWoday
j\‘:l‘:\@ []
U —-- — Uy U000 00000000000 00000000 O
©) ©9
. ! ‘ @] .
=) 1‘_
F@rﬂ% {
Zq Bl Zv Kol — 8'0-00%-d-0SCOS
[elo1e|\ pea (B)1ybrapn 8po)d O3aar 8po) abexoed rv|(3
(D07)COS |lwoot uldeg onseld V-90d0S



